U UfInIGPM MMM deyospue| us pezs ‘uny 100A 0nqdiemauo
JurufinIgPM@ojul
L8Y91SZT - 90
c_:ﬁm PM
13aASHUOPSWERY DM Th6h =
gz ueejuaAOYIPRE
TV ijeewdoq £0-TOIWS-V1d :Jawwnubuiuaa L ST0Z-T11-21T :wmeq
00S:T  :leeyds TOIWS  :Jawwnuafold 8PM :100p puaX2199

uejdsbuissedui xlijaddeyosspuey

(bamabue) 3SI0H 43P UBA - WS dBljlwed

[922.49d uabizlim a3 jJow ai3enyis spueeisaq ayeibodo

v

990.49d UBBIZ[IM B3 3B DIIENIIS BPULLISI] 0304IYINT

(Jueqeug-pioop Japexsbulis|nwiils mnejg usods [iq spuaioyaq ‘usbe|spuolb- us XaiewsaisAsbuipaobis), uee pussjjuo uliz usbeipaquiiou)

04nd 06'LEE'T  :|eejo}

02'09T = " 0T X p£’S X € 1493Y=q 0L'v6T = 06'v9 X € :63juee (4) uswoqyiniy-weysbooy 3s € -

00'veEE = [ OT X bE'E X OT 129Y2q 0069 = 06'v9 X 0T :63juee  :(J0IS|20Xa snuixe.d) (zd/19) uswog "3s OT -

04nd 00’€86 :|eryoigns

uejdsdeyospueT

04nd OvE'T = 00% - 04T :(0338u) Bunyoidiaasbuluuedsul -

(puouabye ‘mLg *|pul) ouna Q0% :(39911ydesdeyospue| ualsoxuo) buissedur ayfijladdeyospue| us|@isdo -
(03n1qg) 04nd Op£ T = (04N 006°Z - 009°TT) UBA %07 :bunydidiaasbuiuuedsu -
04nd 009'TT = 04Nd 00’07 X 08S :|9924ad apieem amnaju -

04Nd 006°Z = 04N3 QQ’S X 08S :|9a24ad apieem abipiny -

ZWw 08S :|9a24ad apjejataddo -




